Division

1) Effectue les divisions suivantes

Correction
Division par
10,100,1 000

38+10=3,8 248 - 100 = 2,48 24 +1000=0,024
250+100=2,5 5+1000 = 0,005 472 +10= 47,2
593+1000=0,593 |47+-10=4,7 9+100=0,09

2) Retrouve le diviseur

24 800 +100=248 |390+10=39 84 000 +1 000 = 84
3) Retrouve le dividende

1 420 +10=142 1 700 =100 =17 39 000 +1000 = 39

4) Effectue les divisions suivantes

23+10=0,23

9,01+100 =0,0901

3,21+1000 = 0,00321

28,97 =100 = 0,2897

49,02 + 1000 = 0,04902

94,78 +10= 9,478

5) Retrouve le diviseur

149+-10=1,49

59+ 100=0,059

907,2+10=90,72

95,01 - 100 =0,9501

17,2 +100=0,172

4,7 +1 000 =0,0047
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